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®y=-2(x-1)%*+4

B

7 = |
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xO) W7 -3<x<2d ], o]y =22 —2x -1 9] HHAZS
M, JE=Ze molth. M +m 9 327
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e Fshi?
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B

xofl et WA= 2 AestH
202 = (y+4)x-y* +y+2

=2 - (y+4)x-(+1)(v-2)
={2x+(-2)Hx-(+1)}
=(2x+y-2)(x-y-1)




b2

)\ﬁlb/
S}
_ IT—:
bb
= #
% S
sy
l_l —
— b
© I
| ©
a2C(\
= |3
] I
| 8
N
s 7

® 5

— |

— |

)1 ® -

O -1

(a=b)(b-c)(c—a)
(c = b)a® - (¢* = b*)a+ bc(c - b)

a*(c=b)+b*(a-c)+c*(b-a)

0
AR




=
=
ARFA Y W, A4 kO] B (S k £ 0)
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A-B=2x+2k=2(x+k)

A, B9 FtjgFrE A-BY dFolBRz
A, B9 U545 G2 ot

GE QAAO|RR G =x+k

x+ k= A% QFoloforstuR

(k)2 +3(-k) +k=0
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@ 2x2-6x+38 @ 2x2-6x+7 @2x2—8x+8

@ 2x2-9x+ 10 ® 2x2+6x+9
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= chgpAle] Ajgerst x-20]m2
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= (x — 2)ab = x* — 6x% + 3x + 10
=x-2)(x+1)(x-5)
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D1 @)2 ® 4 @ 10 ® 20

oa +af + oB + 8B
=a(@+p) +B@+p)
= (a+pB)(@+p)

(@ +pB)(a+pB)
1-i)(~1+i)

= (-
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a<0, b<0 < t= F 4HsHA]

@) va Vb = Vab @ V&b = —aab

Vb /b b2 bya
®va=\/; © LT
® Va% = —avb

~&B

a<0, b<0O|RE,
O vaVb = =aiV-bi
V=a V-bi?
—V=av-b
~Vab
(0 -a>0, —b>0)
w2kA], Va Vb = - Vab
@ V&b = /& (ab)
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® Va2b = -aVb
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B x=-2+V5 EEx=-1+6
@ x=-3+V5i B x=-2+ \6i
@x——lELx— T _3+46

~&B

x(x+6) = x2 + 6x
(x+2)(x+4)=x2+6x+8
¥+ox=XZ2EOH
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X(X +8) +15 =0,
X>+8X+15=0
(X+3)(X+5)=0

L X=-3,X=-5
@:X=-3= x>+6x+3=0,
x=-3+V9-3=-3+ 6
©:X=-5= x2+6x+5=0,
(x+5)(x+1)=0, x=-1,-5




21. 34 (x +x+2)?2=x2+x+49 F5lTE a, pE T W, o? + 2

(2 +x+2)? =x2+x+4°0A

X2 +x+2=A2 54

A2=A+2,

A2-A-2=0, (A+1)(A-2)=0

CA=-1FFEA=2

(1)x +x+2=-149, x> +x+3=0

() 2+x+2=2¢", 2+x=0

(1), (ii)°lA a, = Sl2°IBE x* + x4+ 3 =09 o] "t
et @+ = -1, af = 3°| 2=
a?+p2=(a+p)?-2e08=(-1)2-2x3=-5
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® 1+ @ i ® 0 @—1 ® 24

2x* + 7x? =4 =09l A x* ==}t 5HHA
22 +7t-4=0, (2t-1)(t+4) =0
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~E=11
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23. AT P -6x2-Tx-5 =0 A T a.fyet T W, (1-0)(1-
B)(1-y) o #27

@ -15 @ 16 ® -16 @ 17 @—17

B

(1-a)1-B)(1-y)=1=(a+B+y)+ (ef+By+ye)—aBy

T3} Alg-eko] TA o &5

a+B+y=6, af+py+ya=-7 afy=>5
l1-a)1-B)(1-y)=1-6-7-5=-17

flx)=x3-6x2-Tx-5=(x—a)(x—pB)(x—y) =00 B2
fA)=Q0-)1-pA-y)=1-6-T-5=-17
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AP AL B3 _2x2 4 4x 4+ 3 = 09 Al 2L o, B
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(1-a)(1-8)(1-7y)
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72 =28, y’=4,y=2(y>0),x=3
T x+y=5
a>bOlER a=5b=4

-b=1




26. 4
W, a1 + a3 + as + a7 2] 27

@® 28 @ 26 ® 15
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U U A7) 130] Sl b e o] Sl f(x) e B
£(=3)9 gk

@ @10 Ou @12 613

flx) =k(x-1)(x-2)(x—3) +ax* +bx+c
fl)=a+b+c=3 ----- @
f(2)=4da+2b+c=T7 - @

f3) = 9a+3b+c—13 ----- ®

, @, @S Aot EH
a=1,b=1,c=1
£(x) 7t 7P e 257k e E k= 0
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a, b= A2 o2 Ao, T3t Al4=9] TA 9| o5t
a+b=4,ab=1°22a>0,b>0

a, b Aol st
a?-4a+1=0,b2-4b+1=0

a2+ 1=4a, b>+1=14b

Va2 + 1+ Vb2 +1 = Vda+ Vib

=2(va+ Vb)(-a>0, b>0)

(Va+ Vb)> =a+b+2Vab
=6(-a+b=4,ab=1)
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30.

ofef Iy}t Zol T & f(x) =23 +ax+4, g(x) =cx+d 9
Jx7t x =1 T x = -3 oA Tt} o] o, gy = f(x) - g(x)
o] H5pt2?

A
v=f@w 7
y=8(2)
-3 O I1 g
@s @6 0-4 @2 ® 4

= s dYei,

2x2 +ax+4=cx+d

=22+ (a-c)x+4-d=0---Q

o] -3,10]2=2

2(x + 3)(x— 1) = 02} L3I},

Q% WSt g —c=4,d =10

Sf(x)—gx)=2x*+(a-c)x+4-d
=2x2+4x-6
=2(x+1)2-8
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AAFRAA x - % - dx? - x + 1 = 08 Tl

1 _
x4~ —ash 8 ol W, a7t B 4 Qs BE @
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® -2 @ -1 ® 0 @)1

¥-a-6=0,(a-3)(a+2)=0
Ta=3%ca=-2

wabA, RE A0 3O B 3+ (-2) =1




32, ARPEAA] x* +8x3 + 1762 + 8x+ 1 =09 =2

-3+ 5 -5+ V21
@x=72\/_3:_%x:72\/_
3+V5 5+ V21
@ x= 5 =x= 5
® xo —15i2\/221 EL —14_-2\/51'
@ xo 1512«/221 gL, 11;/3;

® x=15+ V221 B x =1+ V3i
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X X
1 =
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A2+ 8A+15=(A+3)(A+5)
1 1
Z(X+—+3><x+—+5>:0
X X

(F+3x+ D)2 +5x+1)=0

-3+ V6 -5+ 21
w= s
2 2




33.
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Skt A 1, a2, a9 Al ZH7T =T

o o]9] oF=7t EASHA] GO a+= Aot
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